EIH 2025/6/17

REX

fcELE

INATINAR

=T =

F% 2009%F 1A

BElCEfmitia D st ULl mE S VLWE T, Bhaa i AR (3% =50 m
DEBRAICEVREEDAREREEHVET, FHI THEIETL,
EBEHOIHERIL. 2FY DREXZEFRMASHVEDE T,

RO T BIREMRYOARIKTIRVESEITVET,
R T (FRF)ICELELTIITIC, ST AIC>THYVET,

BHix
1, FI—VIARRZUE CVX6MCHi] AN—XE&
1-2 FI—VIMRAZXFVR CVX6MCi#& BIER
CVX6 120CVX | 2, FI—VINARRAFUER CVX6MCH#E R—2Ek
CV3 120CV3 CV6 120CVX |2-2 FI—VINMRAZAHFUE CVX6MC# BIER
120CVL | 3, FI—V/\1RX CV3-CV6
VLT 1207vL VO  1201V0 | 4, INMRRIUR
Vi 1201v1 v4  1201v4 | 5, I"ATIAZ VL1-VO
V2 1201v2 V3  1201V3 | 6, INATIN4XV1-V4
VL1—L 120LVL VO—-L 120LVO | 7, INATIN4ZXV2-V3
Vi-L 120LV1 | 8, INA4TINAZX VL1-L-VO-L
V2—L 120Lv2 V3—-L 120LV3 | 9, INATI\4ZV1-L
10, INMATIS4AV2-L-V3-L




FI—VINMRAFE CVX6 MChi

BB 2025/6/17

1.R—XER

ME | BRmES A #E | FEBEM wm '
1 VS40 [R—=X 1 [34,310 | #H#aiRT
2 VS02 |FxI— FIOE® UAF 1 [12,710 | #H#aRT
3 VS03 |1 1 (11,440 [ ##a#&T->VT03
4 VS04 [ZEYRU 1 4,210 | ##aRT
5 VSO05 [#EsfIFRILE 1 4,970 | #iaRT
6 VS06 |[/\VRIV 1 4,830 | #HiaikT
7 VS07 [O0—5 1 770 | #eRT
8 VS08 |7vI1R 1 400 | #H#aikT
9 VS15 |[O0-3EY 1 400 | #H#akT
10 | VS19 |[E® 1 170 | #terT
11 VS25 |IXATHR—kmRILk 1 2,550 | #eRT
12 BEY (5x35) 1 170

13 | WL89 |xTUVIEY (8x55) 1 170

14 | WO85 |7"AJfdmivk (M8x40) 2 170

15 | WOG6E |7/"Aa7fdihiLbk (M6X15) 2 170

16 FEEE (8) 2 170

17 | WI61C |FEEE (6) 2 170

18 | WGO8 |IF1kEEsE: (8) 2 170

19 | WGO6 |IF1EEsE: (6) 2 170

20 | 9A68 |EEINI 1 400




FI—VINMRRAFE CVX6 MChi EH#H  2025/6/17
2.0 &R

M#E | BRmES m A HE | FEBEM wm =
1 VS09 |kL1(A) 3 3,060 | ##aikT
2 VS10 [kLA(S) 1 4,580 | ##aRT
3 VS11 |12 v Tk 3 400 | HeRT
4 VS41 |B(A) 2 4,580 | #iaRT
5 VS42 |#(B) 1 4,580 | #ia#kT
6 VS27 [}BYiEsHhTL 3 400 | #H#aiRT
7 VS28 |[bLAHR—k 1 1,030 | #HaiT
8 VS29 |BiERFI—2 1 400 | #HaRT
9 VS30 |[#ERIvY 1 170 | ##aikT
10 | VS31 |#MERJUT 2 170 | #HaikT
11 VS16 |bLATR—bAS— 1 270 | #iakT
12 | WI100 |7/"Aamivk (M10x20) 1 170
13 | W101 [7"&iRibk (M10x30) 1 170
14 | WI105 |7/"AmRbk (M10x50) | 3 170
15 | W107 [7"&ihIbk (M10x75) | 3 170
16 | WC10 |7"AFvh (M10) 5 170
17 | WE10 |UFvhk (M10) 3 170
18 RS (M10) 7 170
19 | WG10 |IF1aEEsE (M10) 4 170
20




FI—VINMRRAFIE CVX6 MCi&

1.RX—2ER

BB 2025/6/17

®@®

3/
o

s ;
‘\g)’

“ © |
| &
X - }‘ § | @ .
\;‘- T S/ (J"“‘ <):/~
..‘\\ ; M .. — g % // /
/ v )i 1 G N \ \
PO ARINNE
8 / A n | \
g st I\ O
(9 O
& @\
ME | BRES m A WE | 2B wm =
1 VT40 [R—2Z 1 [56,340
2 VT02 |F1—2 FOE U (EERE) | ] 6,320
3 VT03 [/I\1RiE 1 7,890
4 VT04 [#EVURU 1 1,900
5 VTO5 [#sHfFIFRILS 1 4,110
6 VT06 [/I\JRIL 1 4,270
7 VT07 |[O0—5 1 580
8 VT08 |Jvwoik 1 690
9 VT15 [O0—SE> 1 240
10 VT19 |EE 1 320
11 VT25 [N TFHiR—kRIVE 1 2,550
12 WL56 |RTUoTEY (5%x30) 1 170
13 | WL89 |xRTUJEY (8x55) 1 170
14 | WO85 |/"AE7UtmILE (M8x%40) 2 170
15 | WA27 |7SAEIERI RIS (M6x15) 2 170
16 SRR (8) 2 170
17 | WI61C |FESR (6) 2 170
18 WGO8 |IFREEE (8) 2 170
19 | WG06 |IFNREESR (6) 2 170
20 | 9A68 [[FEIANI 1 400




FI—VINMRRAFIE CVX6 MCi&
2.0 &R

BB 2025/6/17

N#E | BmEs oa WE | FEEM m =
1 @DVTO9 kLA (A) | 3

2 | VTO9S |r1ovThtyh @QVT1I0hL1(S)| 1 | 17,090 | TwvhHiHia
3 BVT11 FLAvvor | 3

4 VT41 [B#(A) 2 7,800

5 VT42 |#(B) 1 7,800

6 VT27 [[BY1E$TA 3 540

7 V128 |kLATR—kK 1 1,620

8 @vT29 migRFT—> | ]

9 VT29S |HfEREZ Y ©OVT30 fERTvo | ] 050 | twihisa
10 VT31 miERUVT | 2

11 VT16 [~ATR—bHZ5— 1 270

12 W100 [/~AERILs (M10x20) 1 170

13 W101 |7SAmILE (M10x30) 1 170

14 W105 [/~AERILE (M10x50) 3 170

15 W108 [/~AmILk (M10x80) 3 170

16 WC10 [/NBFvk (M10) 5 170

17 WE10 [UFwvhk (M10) 3 170

18 RS (M10) 7 170

19 WG10 |[[dREE (M10) 4 170




FIT—JIN\MRX CV6 E#H 2025/6/17

Cv3 ghEmhik 2004558

NE | HRES T BE | EERE S
7 V501 |N\AZAMK 1 [22,250 | #6aRT
2 | V511 |U—oF1—> (25R) 1 8,900

3 | V531 [®fnl 1 4,210

4 V511 FT—VREEY 1 470

5 | V532 |@fHnl 1 4,970

6 | VS06 |/\URIL 1 4,830

7 | WL57 |ZTUTEY (5x35) 1 170

8 | G029 |[O0—5 1 770

9 | G051 |[O—SkEY 1 240

10 | V561 |[N\1ziE 1 | 9,920 | #&RT
11 | WG06 |IFnEs (6) 2 170

12 | W065 [AAara=RILN (M6x30) 2 170

13 W121 |"BRILE (M12%x55) 3 170

14 | WC12 |ABFYK (M12) 3 170

Cvé

NE | HEES B & BE | =ERE B =
1T | V502 |NAZAE 1 | 24,150

2 | v513 [U—0Fz—> (38R) 1 12,710

3 | V631 [®fnl 1 4,210

4 V513 FT1—VAEY 1 470

5 | V532 |@fHnl 1 4,970

6 | VS06 |[\TRIL 1 4,830

7 | WL57 |ZRTUITEY (5x35) 1 170

8 | 5074 |O0—5 1 770

9 | 9027 |O—5tY 1 240

10 | V562 |/\M1Z@& 1 [10,690

11 | WG08 [IFnEs (8) 2 170

12 | WOSF |[A~AaRA=RILN (M8x30) 2 170

13 | W121 |[AERILk (M12x55) | 3 170

14 | WC12 |ABFYK (M12) 3 170




INMRRZVEF (CV3.CV6.VO~V4H)

BB 2025/6/17

ME | BRmES A HE | FEBEM ]
1 V551 |[R—X 1 133,040
2 | V553 | 3 5,090
3 | WC10 |7"x@Arvhk (M10) 3 170
4 | WGT0 |IF1EEsE (10) 3 170
5 | W104 |7"&Ribk (M10x65) | 6 170
6 | V552 |=A 1 119,070
7 | WE10 |UFvk (M10) 6 170
V554 |NAZRRZVRHAIN— 1 1,530




INTINAMR E#HH 2025/6/17
VL1.VO

VL1 fiIER




INMMTINMAR VL. VO s#H  2025/6/17

VL1

M#E| HoEs m % HE| FESM wm =
1 @V101L b-hifs

2 | VL10S |IL—L&7votvk (R) @vLo7 vy | 1| 7,170

3 QVL11 gk

4 VLO1 |R—X 1 [15,250

5 VLO5S |N\URILEYE 1 5,480 LI NVRILERNTE
6 VLO6S |/i1R#H (24 148) 1| 3,060 | VLO6:21@

7 W182 |AMREBTANAMNIVE (M8x%25) 2 170

8 WCO08 |AMRB{TEN AT VE (M8) 2 170

9 VLO3 |t & 1 2,290

10 VLO4 | & 2 2,290

11 W263 | ETFEETRARANNML (M6X16) 6 170

12 | WG06 |[dREE (6) 4 170

13 JL—LEBFRANAMRIVE (M8X35) 1 170

14 | WCO08 |[/"AFvh (M8) 1 170

15| VL13S [ — R 1% | 20,330

16 VL18 [#&(B) 1 1,160

17 VL19 [#E(C) 1 1,160

18 VL16 |5—2I\voIb 2 1,530

19 W104 |HETRSNAEMRILE (M10x65) 3 170

20 | WG10 |[IFRES (10) 3 170

21 WC10 [|/SATvbk (M10) 3 170

VO

M#E | HmEsS m A 2 | 1FEE wm =
1 DVOO01 IL-LF

2 VO0O0S |[FL—4&Tvotyk () @v0o03 Jvo| 1| 6,010

3 V011 gk

4 V002 [R—2X 1 5,230

5 VOO5S |/\URILtvk 1 5,480 | tyoRU\VRIL IS
6 V004S |7i1R#8 (24 1%8) 1| 3,060 | V004;21{E

7 W182 |AAREURILE (M8x%25) 2 170

8 WCO08 |ACREfI vk (M8) 2 170

9 VLO3 |t &8 1 2,290

10 VLO4 |F & 2 2,290

11 W263 |ETFEBfARAN/NMLU (M6X16) 6 170

12| WG06 |IFREE (6) 4 170

13 JL—LEBFRANAMRIVE  (M8X35) 1 170

14 | WCO08 |[/"EFvb (M8) 1 170




INMTINMR V1.V4

BB 2025/6/17

V1
ME | BmES m B HE | BRI wm =
1 @V101 Ib-hFE
2 V100S |IL—L&Tvotvk () @V107 v | 1R 7,170
3 QVL11 gk
4 V102 [R—2X 1 5,230
5 | VI05S [I\URILEYE 1 5,480 | R N\VRIL S
6 | VI06S |/i1R# (24 1%8) 1% | 3,060 | V106:2{H
7 V103 |t & 1 1,790
8 V104 |TF & 2 1,790
9 AR EEEBTASARIVE (M8X40) 2 170
10 TeeETANAENIVE (M8x50) 2 170
11 | WCO08 |Avk- L TFwEMtEAET v~ (M8) 4 170
12 JL—LBFRSNARIVE  (M8X40) 1 170
13 | WCO08 |/"AaTvhk (M8) 1 170
V4
M#E | HPaEs m HE | BRI wWm
1 @V401 I-bE
2 | V400S |7L—L&7votyvhk () @v407 7wz | 1R | 20,000
3 QV411 gk
4 V402 |[R—=2X 1 [19,570
5 | VA05S [\URILEYE 1 15,250 | €Y9RCN\URILEMTE
6 | VA06S |Hi1r# (24 1%8) 1% | 7,630 | V406;2@
7 V403 |t & 1 4,330
8 V404 |F B8 2 4,330
9 W004 |A4k- EmEAEAARNIVE (M10X40) 2 170
10 | W104 | FeeEfTASAMNIVE (M10x65) 2 170
11 WC10 |fHvk- EFEEEmR-sAarys (M10) 4 170
12 JL—LEMREASARIVE  (M12%X50) 1 170
13 | WC12 |/"EFvh (M12) 1 170




INMTIMMR

BB 2025/6/17

(10

V2
M#E | BmES m_ e | SR wm =
1 @V201 I-LF
2 | V200S |7L—4L&7votyvhk () @v207 7vz| 18| 11,980
3 V212 gk
4 | V202 [R—X 1 11,700
5 | V205S |[/\URILEYE 1 8,650 | tusnl. \URIL A=
6 | V206S |AARHE (271%8) 1#H | 4,580 V206.V211 &14
7 | V203 |t & 1 2,290
8 [ V204 |F B8 2 2,290
9 HAR - EsEBASARILE (M8X40) 3 170
10 | W104 | TeeEXftASAMNILE (M10x65) 2 170
11 | WCO08 [HAR- EsEEtRASAETvE (M8) 3 170
14 | WC10 | FeEftASAFTYE (M10) 2 170
12 JL—LBREAARIVE (M12Xx45) 1 170
13 | WC12 |/"EFvk (M12) 1 170

V3
M%E | FmES m__f HE | BRI wm =
1 @V301 I-LF
2 | V300S |7L—4&7votyk () @v207 Jvz| 1R | 14,020
3 QV212 ik
4 | V302 [R—X 1 113,990
5 [ V305S |\URILEYE 1 110,690 | toonL. \URL A
6 | V306S |[Hi1F# (271%8) 1#5| 6,110 V306.V311 &1~
7 | V303 |t & 1 2,690
8 | V304 |T & 2 2,690
9 HAR - ElEBRSARILE (M8X40) 3 170
10 | W104 | FeaEfAERIVE (M10x65) 2 170
11 WCO08 |AAR- EwmEtA AT vE (M8) 3 170
14 | WC10 | FeaEMfSAAET VR (M10) 2 170
12 JL—LBMREAARIVE (M12Xx45) 1 170
13 | WC12 |/"BFrvk (M12) 1 170




&EF#H 2025/6/17

VL1(120LVL).VO(120LVO)

SAZITRINMTINMR




SALAZIOJRBINMTIN1X VL1-L,VO- s#H  2025/6/17
VL1-L

M HaEs m  f WE R B =

1 @V101L Ib-bi

2 | VL10S [JL—L&Tvotvk (R) @VLO7 7y 1=®| 7,170

3 QVL11 gk

4 | VLO1 [R—2X 1115,250

5 | VLO5S |/\RILEYE 1 5,480 | tYRUN\IURILIRES

6 | VLO6S |A1~# (25 148) 1#8| 3,060 | VLO6;21{E

7 | W182 |AAREMTANAENILE  (M8X25) 2 170

8 | WCOS8 |/ REMFRASAT Y~ (M8) 2 170

9 | VL40 |51=07Fk 1§ 1 2,810

10| VL41 |54=ZU0F & 2| 2,240

11| W263 | EFsEEMTABRA/NML (M6X16) 4 170

12 | WGO6 |[FREES (6) 4 170

13 JL—LBTRAAMNILE  (M8X35) 1 170

14 | WCO8 |/"AaT vk (M8) 1 170

15| VL13S |# — R 1| 20,330

16| VL18 |#E(B) 1 1,160

17| VL19 [#5E(C) 1 1,160

18| VL16 |%—2I\vol 2|1 1,530

19 | W104 |HEMIR7SARIV (M10%x65) 3 170

20| WG10 |l[FnpEs (10) 3 170

21| WC10 |/"Earvhk (M10) 3 170

22| W162 |[/"AERILE (M6x%15) 2 170
VO-L

M HaEs m f e A W =

1 @VO0O01 IL-AF

2 |VOOOS |[7L—L4&Tvotvk () @V003 7wy 1®| 6,010

3 QVO011 gk

4 | VO0O2 [R—X 1 5,230

5 | VOO5S|/\URIILEYE 1 5,480 | tys0U N\URIL IS

6 |VO0O4S |H1Rr4H (25 148) %8| 3,060 | VO004;21@

7 | W182 |AAREMTANAENILE  (M8X25) 2 170

8 | WCO8 |/ REFARSAT Y I~ (M8) 2 170

9 | VL40 |51=7 Lt 1§ 1 2,810

10| V021 |Z24=ZV0F & 2| 2,240

11| W263 | EFsEEUTABRAN/NML (M6X16) 4 170

12 | WGO06 |IFNEE (6) 4 170

13 JL—LBFRAARIVE (M8X35) 1 170

14 | WCO8 |/"ATwvh (M8) 1 170

22| W162 |[75AmILk (M6x%15) 2 170




SAZVTRIMMTINMMR

2025/6/17

V1-L
ME| HmES m A HE| RERM wm =
1 @V101 Ib-bE
2 |V100S [IL—L&Tvotvh (B) @v107 2wz |1 7,170
3 QVL11 &
4 | V102 |[R—X 1 5,230
5 | V105S [\RILEYE 1 5,480 | tuvsnU AURIL IS
6 |VLOG6A [7i1k#i (24 1%8) 1| 1,850 | F-2UWN -ICEE
7 | VL40 (1= J Lt . 1 2,810
8 | V121 |Z51=Z2JF & 2 1,790
9 | W182 |k LEEXfTRANAERILS (M8x25) 2 170
10 TEETASNAERIVS (M8x70) 2 170
11 | WCO8 |1k EFsldR AT vr  (M8) 4 170
12 JL— LB RRAERIVE (M8x%x40) 1 170
13 | WCO8 |[7"AaFvh (M8) 1 170
14 | W162 |[7"A&RILE (M6x15) 2 170




SAZVJRINMTINMR V2-L.V3-L

BB 2025/6/17

V2—-L
ME | SmES m  f WE | EERM W =
1 MV201 b-hE
2 | V200S |7L—L&Tvotvhk () @v207 7vz| 1| 11,980
3 BV212 &
4 V202 [R—X 1 11,700
5 | V205S [\URILEYE 1 8,650 | tysRl. \VRIL EKfE
6 | V222S |H1R#E (v222; 2718) | 140 | 4,580 | F-=IW -ICEE
7 | V220 |51=2JLk & 1 1,530
8 V221 |51=Z20F & 2 2,220
9 | W182 |HAREUIRSAMRILE  (M8X25) 2 170
10 T ASARIVS (M10%x75) 2 170
11 | WCO08 |H4REATRAET Y (M8) 2 170
12 JL— LB RAAERIVE (M12X45) 1 170
13 | WC12 |[ABEFvhk (M12) 2 170
14 | WC10 | FEEB{TASATvE (M10) 1 170
15 | W162 | Es&EBtEAAERIVS (M6x15) 2 170
V3-L
ME | SpRES m  f WE | AR W =
1 MV301 b-hE
2 | V300S |7L—L&Tvotvik () @v207 7vo| 1| 14,020
3 QV212 $&
4 | V302 [R—2X 1 113,990
5 | V305S |/\URILEYE 1 110,690 | tY9RCN\VRILIERES
6 | V322S |A1RE (v322; 27148) | 148 | 3,550 | F>IW -ICEE
7 | V220 |31Z00Lk & 1 1,530
8 | V321 |Z4=ZJF & 2 1,670
9 | W182 |AAREMTRSAMRILE  (M8X25) 2 170
10 TR RESARIVS (M10%x75) 2 170
11 | WCO08 |A4REATRAET Y (M8) 2 170
12 JL—LEFREAAERIVE  (M12X45) 1 170
13 | WC12 |/"ATvh (M12) 1 170
14 | WC10 | FEEB{TASABTYE (M10) 2 170
15 | W162 | EsEEMSFASARIVS (M6x15) 2 170




